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Section 3.6 - Rational Functions

Be sure to go over #s 8-10 on Writing Project #3. I think they make a decent
introduction, covering everything pretty well. The rest is repetition and maybe a
few (too many un-) helpful tips from me.

Rational Function Videos from Writing Project #3:

#8 - Rational Function with horizontal and vertical asymptotes.

#8 Bonus - Find #8's intersection with its horizontal asymptote.

#9 - Rational Function with a hole, built off of #8.

#10 - Rational Function with a slant asymptote, also built off #8.



https://harryzaims.com/public_html/121-online/videos/03-Writing-Projects/Writing-Project-3/New-Videos/video/08-Graph-Rational-Function.mp4
https://harryzaims.com/public_html/121-online/videos/03-Writing-Projects/Writing-Project-3/New-Videos/video/09-Rat-Func-with-Hole.mp4
https://harryzaims.com/public_html/121-online/videos/03-Writing-Projects/Writing-Project-3/New-Videos/video/10-Slant-Asymptote.mp4
https://harryzaims.com/public_html/121-online/videos/03-Writing-Projects/Writing-Project-3/New-Videos/video/08-z-Bonus.mp4
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(a) Complete each table for the function. (Round Xeur answers to three decimal places where applicable.)
Table 1 Table 2 Table 3 Table 4
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(b) Describe the behavior of the function near its vertical asymptote, based on Tables 1 and 2.
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Using a Computer Algebra System (CAS):
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(a) Complete each table for the function. (Round your answers to three decimal places where applicable.)

(b) Describe the behavior of the function near its vertical asymptote, based on Tables 1 and 2.
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(c) Determine the horizontal asymptote, based on Tables 3 and 4.
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The following question is about the rational function
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(a) The graph of r has a vertical asymptote x = 2. T rue W oxt-\ @ x=-1

(b) The graph of r has a vertical asymptote x = —1. pnye . ITF'¢ a\nolﬂ -

(c) The graph of r has a horizontal asymptote y = 1. False
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Use transformations of the graph of y = 1/x to graph the rational function.

11 o = 2X =15
x—4

The trick: Synthetic Division and an appropriate interpretation of the
Division Algorithm from Section 3.3 on dividing polynomials.

These exercises are befuddling, at first, and then they're kinda cute.

Ye-1S
3|\"AF ‘—q -
|
= 4+ —
Hy v - Th3 segs ) 1T IS
e A
P g
Y | =€ 1. L= t
»
c

>

I
f <
|
<

...................................... y =4
%«*\3 _

October 16, 2023




3-06-notes.notebook

October 16, 2023

14

x + 8

-5

comma-separated list of equations.)

Find the x- and y-intercepts of the rational function. (If an answer does not exist, enter DNE.)
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Find all horizontal and vertical asymptotes (if any). (If an answer does not exist, enter DNE. Enter your answers as a
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Find all vertical and horizontal asymptotes (if any). (If an answer does not exist, enter DNE. Enter your answers as a
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Find all vertical and horizontal asymptotes (if any). (If an answer does not exist, enter DNE. Enter your answers as a
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Find all vertical and horizontal asymptotes (if any). (If an answer does not exist, enter DNE. Enter your answers as a

comma-separated list of equations.
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Find all vertical and horizontal asymptotes (if any). (If an answer does not exist, enter DNE. Enter your answers as a
comma-separated list of equations.)
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Find the intercepts and asymptotes. (If an answer does not exist, enter DNE. Enter your asymptotes as a comma-separated
list of equations if necessary.)
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Find the factors that are common in the numerator and the denominator. Then find the intercepts and asymptotes. (If an
answer does not exist, enter DNE. Enter your asymptotes as a comma-separated list of equations if necessary.)
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Find the slant asymptote and the vertical asymptote. (If an answer does not exist, enter DNE.)
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Sketch a graph of the function.
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Find the slant asymptote and the vertical asymptotes. (If an answer does not exist, enter DNE.)
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Let r(x) =

5x3 + 5x2 _  Sx¥ (ev0)
x2 —4 (-2l

Sketch a graph of the function.
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